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1) 3)

2)

4)

A)

A) 4 B) 7 C) 3 D) 2 E) 5

B) -11 C) D) 11 E) 10

VD\ñODUñQñQ

GHQNOHPLQLQ�N¸NOHUL�������YH�������GLU�

DULWPHWLN�RUWDODPDVñ�ND©WñU"

WRSODPñQñQ�DODFDáñ�HQ�N¾©¾N�GHáHU�ND©WñU"

LOH

What is the arithmetic mean of  the numbers

What is the smallest value of the sum?

Roots of the equation                            are       and      .

and ?

21
2

21
2

-

A) 9

A) 105

B) -8

B) 210

C) 6

C) 255

D) 8

D) 231

E) -9

E) 110
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5) 7)

8)
6)

���VD\ñVñ�DĜDáñGDNL�N¾PHOHUGHQ�KDQJLVLQLQ�
HOHPDQñGñU"

Which of the following sets has -3 as an element?

A) 14

A) 2

B) 13

B) 

C) 12

C) 

D) 11

D) 4

E) 10

E) 5

D)

A)
A)

C)

E)

B)

D)

B) C)

E)

3
2

5
2
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9) 11)

12)

10)

Ō$(5263$&(ō�NHOLPHVLQGHNL�KDUŴHULQ��LNL�(�KDUƓQLQ�
\DQ�\DQD�JHOPHVL�NRĜXOX\OD��SHUP¾WDV\RQODUñ�
VD\ñVñQñ�KHVDSOD\ñQñ]�

a,b�YH�c�WDPVD\ñODU�ROPDN�¾]HUH��a < b < 0 < c�LVH��
DĜDáñGDNLOHUGHQ�KDQJLVLQLQ�GHáHUL�GDLPD�VñIñUGDQ�
E¾\¾NW¾U"

+LOHVL]�LNL�]DU�ELUOLNWH�DUW�DUGD���NHUH�DWñOñ\RU���VWH�
JHOHQ�VD\ñODUñQ�WRSODPñQñQ�DWñĜODUGDQ�VDGHFH�
LNLVLQGH���JHOPH�RODVñOñáñ�ND©WñU"

Calculate the number of permutations of the letters of 
the word ‘AEROSPACE’ provided that two E letters are 
next to each other.

Given that a,b and c are integers
satisfying a < b < 0 < c , which of the followings are 
always positive?

Two fair dice are rolled together 3 times in a row. 
What is the probability that the sum of the numbers 
on top is 7 for two throws out of three? 

A)

A)

B)

B)

C)

C)

D)

D)

E)

E)

7!
2!

a+b
c-b

c+b
c-a

a-b
c-b

c+a
c-a

b-a
c-b

8!
2!

9!
2!

8!
2!2!

9!
2!2!

A) 5 B) 6 C) 8 D) 9 E) 11

A) B) C) D) E)5
216

1
36

5
6

1
72

5
72

telegram : yos_books2018



A SAÜYÖS - 2022

- 4 -

13) 15)

16)

14)

<XNDUñGDNL�GHQNOHPLQ�N¸NOHUL�WRSODPñ�QHGLU"

<XNDUñGDNL�HĜLWVL]OLáLQ�©¸]¾P�N¾PHVL�
DĜDáñGDNLOHUGHQ�KDQJLVLGLU"

What is the sum of the roots of the above equation?

What is the solution set for the above inequality?

A) 1
A) 6

B) (-2,0)

A) a-b

B) 2
B) 3

A) (0,2)

B) b-c

C) 3
C) 1

C) (-2,2)

C) c-a

D) 5
D) -1

D) (0,3)

D) b-a

E) 10
E)  

E)    -{0}

E) c-b

1
3
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17) 19)

20)18) P(x)�ELU�SROLQRP /    P(x) is a polynomial

A) -2 A) 5

A) 1

A) -2

B) -1 B) 2

B) 2

B) -1

C) 0 C) 4

C) 3

C) 0

D) 1 D) 7

D) 4

D) 1

E) 2 E) 6

E) 5

E) 2

A B
3

4

B C
2

5
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21) 23)

24)

22)
LNLQFL�GHUHFHGHQ�SROLQRP�IRQNVL\RQ

HĜLWVL]OLáLQL�VDáOD\DQ�ND©�IDUNOñ�“a”�
WDPVD\ñVñ�YDUGñU"

f is a quadratic function

How many different integer values 
of “a” are there satisfying the 
inequality?

A) 1

A) 3

A) -3

B) 2

B) 4

B) -1

C) 3

C) 5

C) 1

D) 4

D) 6

D) 3

E) 5

E) 7

E) 5

<DQGD�\� �I��[��
IRQNVL\RQXQXQ�
JUDƓáL�YHULOPLĜWLU��
%XQD�J¸UH�SDUDERO¾Q�
DODFDáñ�HQ�E¾\¾N�
GHáHU
DĜDáñGDNLOHUGHQ�
KDQJLVLGLU"

The graph of 
function
y = f(x) is given 
at right hand 
side. What is 
the maximum 
value of the 
parabola?

A) B) C) D) E)1
5

1
10

1
5

1
2

1
10

- - -

telegram : yos_books2018



ASAÜYÖS - 2022

- 7 -

Sonraki Sayfaya Geçiniz
Next Page

25) 27)

28)

26)

LIDGHVLQLQ�D©ñOñPñQGD
x7�WHULPLQLQ�NDWVD\ñVñ�ND©WñU"

:KDW�LV�WKH�FRHIƓFLHQW�RI�x7

in the expansion?

f  is 1-1 and onto function

f��ELUHELU�YH�¸UWHQ�IRQNVL\RQ

A) 3

A) 152A)

A)

B) 4

B) 144B)

B)

C) 5

C) 156C)

C)

D) 6

D) 120D)

D)

E) 7

E) 148E)

E)
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29)

30)

31)

32)

�D����F� �"

A) 12 B) 9 C) 6 D) -6 E) -9

SROLQRPXQXQ LOH�E¸O¾P¾QGHQ
NDODQñ�YHULU"

$ĜDáñGDNLOHUGHQ�KDQJLVL

Which of the following is the remainder of the 
division of the polynomial
by                                     ?

A) B) C)

D) E)

A) 2 B) 3 C) 6 D) 8 E) 9

A) B) C)

D) E)
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33) 35)

36)

34)

A) 33 A) -12B) 31 B)  C) 34 C)  D) 30 D)  E) 32 E)  

A) 45 B) 35 C) 27 D) 22 E) 16

-42
5

42
5

18
5

-18
5

A) 30 B) 20 C) 26 D) 24 E) 16
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37)

38)

39)

40)

A) 512 A) -2

A) i 

0-i 

12

B) 648 B) -1

B) i +i 

3

C) 729 C) 0

C) i 

4+i 

10

D) 765 D) 1

D) i 

11-i 

9

E) 810 E) 2

E) i 

8-i 

16

A) B) C)

D) E)

i2 = -1�ROPDN�¾]HUH��DĜDáñGDNLOHUGHQ�KDQJLVL�VñIñUD�
HĜLW�GHáLOGLU"

Given that i2 = -1, which of the following expressions 
is NOT equal to zero?

telegram : yos_books2018



ASAÜYÖS - 2022

- 11 -

Sonraki Sayfaya Geçiniz
Next Page

41) 43)

44)42) ěHNLOGH��2�PHUNH]OL�L©�
L©H�GDLUHOHU��6��YH�6��
WDUDOñ�DODQODUñ�YHULOPLĜWLU�

$%&'�YH�$().�ELUHU�
NDUHGLU�
ABCD and AEFK are 
squares.

7DUDOñ�E¸OJHQLQ�DODQñ�
QHGLU"
What is the area of 
shaded region?

A) 25R
A) 20R

A) 144 cm�

B) 30R
B) 25R

B) 152 cm�

D) 165 cm�

C) 35R
C) 30R

C) 160 cm�

E) 180 cm�

D) 40R
D) 35R

E) 45R
E) 40R

Two circles with their 
centers O and shaded 
regions S1 and S2 are 
JLYHQ�LQ�WKH�ƓJXUH�

A) B)  C)  D)  E)  3
4

5
12

1
3

1
4

1
12
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45)

46)

47)

48)

$%&'�GLN�\DPXN
ABCD is a right trapezoid

ABCD SDUDOHONHQDU��SDUDOOHORJUDP��
AFD��AED ¾©JHQOHU��WULDQJOHV��

$%&'�ELU�\DPXN���ABCD is a trapezoid��

$%&'�GLNG¸UWJHQ
ABCD is a rectangle

A) 6 cm B) 8 cm C) 10 cm D) 12 cm E) 16 cm

A) 32 cm�

A) 42 cm�

B) 36 cm�

B) 28 cm�

D) 44 cm�

D) 35 cm�
C) 40 cm�

C) 32 cm�

E) 48 cm�

E) 40 cm�

A) 10 cm B) 12 cm

D) 18 cm

C) 15 cm

E) 20 cm
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49) 50)

$%&'()*+�G¾]J¾Q�VHNL]JHQ��UHJXODU�RFWDJRQ�

ěHNLOGH�N1�GRáUXVXQXQ�GHQNOHPL��[���\� ����
N��GRáUXVXQXQ�GHQNOHPL��[����\� ����GLU�
%XQD�J¸UH�WDUDOñ�E¸OJHQLQ�DODQñ�ND©WñU"
The equation of the line k1 is 2x + y = 4 ,
and the equation of the line k2 is 2x + 3y =12.
What is the area of shaded region?

D) 2 cm

B) 2  2 cmA) 4  2 cm C) 4 cm

E) 8 cm
A) 16 br� B) 12 br�

D) 10 br�
C) 8 br�

E) 6 br�
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51) 

52)

53)

54)

A) 

A) 

B) 

B) 

D) 

D) 

E) 

E) 

C) 

C) 

<XNDUñGDNL�ĜHNLOOHU�ELU�NXUDOD�J¸UH�GL]LOPLĜWLU��%X�
NXUDOD�J¸UH�"�LOH�J¸VWHULOHQ�\HUH�DĜDáñGDNLOHUGHQ�
KDQJLVL�JHOPHOLGLU"

ěHNLOGHNL�VD\ñODU�DUDVñQGDNL�NXUDOD�J¸UH��VRUX�
LĜDUHWLQLQ�\HULQH�KDQJL�VD\ñ�\D]ñOPDOñGñU"

:KLFK�DQVZHU�ƓWV�LQ�WKH�PLVVLQJ�VSDFH�WR�FRPSOHWH�WKH�
pattern?

7KH�QXPEHUV�LQ�WKH�ƓJXUHV�DERYH�DUH�DUUDQJHG�
DFFRUGLQJ�WR�D�VSHFLƓF�UXOH��$FFRUGLQJ�WR�WKLV�VSHFLƓF�
rule, which of the followings should be written in place 
of question mark?

<DQGDNL�ĜHNOLQ�VDDW�
\¸Q¾QGH����GHUHFH�
G¸QG¾U¾OP¾Ĝ�KDOL�
DĜDáñGDNLOHUGHQ�

KDQJLVLGLU"

If we perform a 
45-degree clockwise 
URWDWLRQ�WR�WKH�ƓJXUH�

on the left, what do 
we obtain?

A) B) 

D) 

E) 

C) 

A) 27 B) 54 C) 81 D) 99 E) 108
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55)

56)

58)

59)

<XNDUñGDNL�JHRPHWULN�ĜHNLOOHU�LOH�DOWñQD�\D]ñODQ�
GHQNOHPOHU�DUDVñQGD�ELU�LOLĜNL�YDUGñU��%XQD�J¸UH��
VRUX�LĜDUHWL�\HULQH�DĜDáñGDNL�GHQNOHPOHUGHQ�KDQJLVL�
JHOHELOLU"

���������������������������������������������������������"

7KHUH�LV�D�UHODWLRQVKLS�EHWZHHQ�WKH�JHRPHWULF�ƓJXUHV�
and the corresponding equations above. Which of the 
following equations can replace the question mark?

<DQ�WDUDIWD�ELU�N¾S¾Q�
J¸U¾QHQ���\¾]¾�

YHULOPLĜWLU��%XQD�J¸UH�
N¾S¾Q�D©ñOPñĜ�KDOL�

DĜDáñGDNLOHUGHQ�KDQJLVL�
RODELOLU"

Given the 3-face of cube 
at left hand side; Which 

one of the following is the 
extracted form of cube?

57)

A) 4x+6=6 B) 4x-6=6

D) 4x-6=4

C) 4x-6=12

E) 4x+6=12

A) 17

A) 6

B) 18

B) 4

C) 33

C) 5

D) 34

D) 3

E) 35

E) 7

A) B) 

D) E) 

C) 

A) B) 

D) E) 

C) 
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60)

61)

62)

63)

<XNDUñGD�YHULOHQ�ĜHNLOGH�WHUD]LOHU�GHQJHGH�ROGXáXQD�
J¸UH���������\HULQH�DĜDáñGDNL�ĜHNLOOHUGHQ�KDQJLVL�
JHWLULOPHOLGLU"

$OO�VFDOHV�DUH�LQ�EDODQFH��:KLFK�ƓJXUH�FDQ�EH�UHSODFHG�
instead of         ?

A) B) 

D) E) 

C) 

<XNDUñGDNL�©HPEHUOHUH�\HUOHĜWLULOHQ�VD\ñODU�EHOLUOL�ELU�
NXUDOD�J¸UH�GL]LOPLĜWLU��%XQD�J¸UH�������YH������VHPEROOHUL�
\HULQH�VñUDVñ\OD�KDQJL�VD\ñODU�JHOPHOLGLU"

Above numbers in the circles are written as a given rule. 
Which numbers can be replaced instead of  symbols 
       and       respectively?

A) 2 - 64 B) 3 - 55 C) 4 - 45

D) 5 - 44 E) 6 - 60

$ĜDáñGDNLOHUGHQ�KDQJLVL�ELU�\¸Q¾\OH�GLáHUOHULQGHQ�
IDUNOñGñU"

Which of the following is different from others in one 
aspect?

A) 

A) 

B) 

B) 

D) 

D) 

E) 

E) 

C) 

C) 
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65)

64) 66)

67)

$ĜDáñGDNL�DOIDEH\L�J¸]¸Q¾QH�DOñQñ]�
Consider the following series of alphabets:

A) 

A) 

B) 

B) 

D) 

D) 

E) 

E) 

C) 

C) 

<XNDUñGDNL�SLUDPLWLQ�GñĜ�\¾]H\LQGH�ND©�WDQH�NDUH�
YDUGñU"
How many squares are on the outer surface of the 
pyramid above?

$�%�&�'�(�)�*�+�,�-�.�/�0�1�2�3�4�5�6�7�8�9�:�;�<�=

/$:
�������

DEB
������

36,
�������

(*2
"

A) 3141281

D) 3142811

B) 314181

E) 3124181

C) 324181

A) 156 B) 144 C) 181 D) 197 E) 168
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68)

69)

70)

71)

=�ĜHNOLQL�ROXĜWXUPDN�L©LQ�KDQJL�LNL�ĜHNLO�
NXOODQñOPDOñGñU"

=

,

,,, ,9

9

,,

�;�<�� �"

Which two shapes should be used to create the
shape Z ?

�������������������������������������������������"

A) 147

A) (81,242)

D) (81,241)

A) I-II

B) 368

B) (63,242)

E) (108,241)

B) II-III

C) 189

C) (108, 112)

C) II-IV

D) 244

D) III-V

E) 328

E) I-V

A) 

C) 

B) 

D) 

E) 
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72)

73)

74)

75)

$ĜDáñGDNLOHUGHQ�KDQJLVL�IDUNOñGñU"
Which of the following is different?

A) 78 B) 82 C) 92 D) 90 E) 88

A) 

A) 

C) 

C) 

B) 

B) 

D) 

D) 

E) 

E) 

�� �� 31 �
�� �� �� �
�� �� 39 3
�� ? 36 �

A) 121 B) 132 C) 144 D) 156 E) 196

� 6 � ��
�� �� �� ?
� � 9 11
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76) 77)

78)
A) 

C) 

B) 

D) 

E) 

A) C) B) 

D) E) 

A) 34 B) 44 C) 54 D) 64 E) 84
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79)

80)

7HVW�%LWWL��&HYDSODUñQñ]ñ�NRQWURO�HGLQL]�
End of the Test. Check Your Answers.

A) C) B) 

D) E) 

<DQ�WDUDIWD�ELU�N¾S¾Q�
D©ñOñPñ�YHULOPLĜWLU��%XQD�

J¸UH�DĜDáñGDNL�N¾SOHUGHQ�
KDQJLVL�HOGH�HGLOHPH]"

According to the extracted 
cube at left hand side; 

Which one of the following 
cubes can not be 

produced?

�����������������������������������"��������

A) 210 B) 216 C) 222 D) 240 E) 254
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���&HS�WHOHIRQX�LOH�VñQDYD�JLUPHN�NHVLQOLNOH�\DVDNWñU���DáUñ�FLKD]ñ��WHOVL]��YE��KDEHUOHĜPH�DUD©ODUñ�LOH�FHS�ELOJLVD\DUñ��
VDDW� IRQNVL\RQX�GñĜñQGD� IRQNVL\RQX�EXOXQDQ� VDDW� YE��KHU� W¾UO¾�ELOJLVD\DU�¸]HOOLáL�EXOXQDQ�FLKD]ODUOD� YH�D\UñFD�
VLODK�YE�� WH©KL]DWOD��P¾VYHGGH�N¤áñGñ��GHIWHU��NLWDS��V¸]O¾N��V¸]O¾N� LĜOHYL�RODQ�HOHNWURQLN�D\JñW��KHVDS�PDNLQHVL��
KHVDS�FHWYHOL��SHUJHO��D©ñ¸O©HU��FHWYHO�YE��DUD©ODUOD�GD�VñQDYD�JLUPHN�\DVDNWñU��%X�DUD©ODUOD�VñQDYD�JLUPLĜ�DGD\ODUñQ�
\DEDQFñ�X\UXN�QXPDUDODUñ�PXWODND�6DORQ�6ñQDY�7XWDQDáñQD�\D]ñODFDN��EX�DGD\ODUñQ�VñQDYODUñ�JH©HUVL]�VD\ñODFDNWñU�

���%X�VñQDYGD�YHULOHQ�FHYDSODPD�V¾UHVL������GDNLNDGñU�

���6ñQDY�HYUDNñQñ�WHVOLP�HGHUHN�VDORQX�WHUN�HGHQ�DGD\��KHU�QH�VHEHSOH�ROXUVD�ROVXQ�WHNUDU�VñQDYD�DOñQPD\DFDNWñU�

��� 6ñQDY� VñUDVñQGD� KHUKDQJL� ELU� QHGHQOH� GñĜDUñ� ©ñNPDN� \DVDNWñU�� 6ñQDYñQ� EDĜODPDVñQñ� L]OH\HQ� LON� ��� GDNLND� YH�
VñQDY� V¾UHVLQLQ� VRQ� ��� GDNLNDVñ� L©LQGH�� VñQDYODUñQñ� WDPDPODVDODU� ELOH� KL©ELU� DGD\ñQ� VDORQGDQ� ©ñNPDVñQD� L]LQ�
YHULOPH\HFHNWLU��6ñQDYñQ�EDĜODPDVñQñ�L]OH\HQ�LON����GDNLNDGDQ�VRQUD�KL©ELU�DGD\�VñQDYD�DOñQPD]�

���6ñQDY�V¾UHVLQFH�J¸UHYOLOHUOH�NRQXĜPDN�YH�RQODUD�VRUX�VRUPDN�\DVDNWñU��$\Qñ�ĜHNLOGH�J¸UHYOLOHULQ�GH�DGD\ODUOD�
\DNñQGDQ�YH�DO©DN�VHVOH�NRQXĜPDODUñ��D\UñFD��DGD\ODUñQ�ELUELULQGHQ�NDOHP��VLOJL�YE��ĜH\OHUL� LVWHPHOHUL�NHVLQOLNOH�
\DVDNWñU�

���6ñQDY�VñUDVñQGD�J¸UHYOLOHULQ�KHU�W¾UO¾�X\DUñODUñQD�X\PDN�]RUXQOXGXU��*HUHNWLáLQGH�J¸UHYOLOHU�RWXUGXáXQX]�\HUOHUL�
GH�GHáLĜWLUHELOLU�� 6ñQDYñQñ]ñQ� JH©HUOL� VD\ñOPDVñ�� KHU� ĜH\GHQ�¸QFH� VñQDY� NXUDOODUñQD� X\PDQñ]D�EDáOñGñU�� .XUDOODUD�
D\NñUñ�GDYUDQñĜWD�EXOXQXU�YH�\DSñODFDN�X\DUñODUD�X\PD]VDQñ]�NLPOLáLQL]� WXWDQDáD�\D]ñODFDN�YH�VñQDYñQñ]�JH©HUVL]�
VD\ñODFDNWñU�

���6ñQDY�VñUDVñQGD�NRS\D�©HNHQ��NRS\D�WHĜHEE¾V¾QGH�EXOXQDQ��NRS\D�YHUHQ��NRS\D�©HNLOPHVLQH�\DUGñP�HGHQOHULQ�
NLPOLN�ELOJLOHUL�6DORQ�6ñQDY�7XWDQDáñQD�\D]ñODFDN�YH�EX�DGD\ODUñQ�VñQDYODUñ�JH©HUVL]�VD\ñODFDNWñU��*¸UHYOLOHU�NRS\D�
©HNPH\H� YH\D� YHUPH\H� ©DOñĜDQODUñ� X\DUPDN� ]RUXQGD� GHáLOGLU�� 6RUXPOXOXN� VL]H� DLWWLU�� 6ñQDY� VñUDVñQGD� FHYDS�
N¤áñGñQñ]ñQ�EDĜNDODUñ�WDUDIñQGDQ�J¸U¾OPH\HFHN�ĜHNLOGH�WXWXOPDVñ�JHUHNPHNWHGLU��

��� &HYDS� N¤áñGñQGD� LOJLOL� DODQODUñ� GROGXUPDQñ]� JHUHNPHNWHGLU�� &HYDS� N¤áñGñQD� \D]ñODFDN� KHU� W¾UO¾� \D]ñGD� YH�
\DSñODFDN� E¾W¾Q� LĜDUHWOHPHOHUGH� NXUĜXQ� NDOHP� NXOODQñODFDNWñU�� 7¾NHQPH]� NDOHP� YH� GROPD� NDOHP� NHVLQOLNOH�
NXOODQñOPD\DFDNWñU��&HYDSODUñQ�FHYDS�N¤áñGñQD�LĜDUHWOHQPLĜ�ROPDVñ�JHUHNLU��6RUX�NLWDS©ñáñQD�LĜDUHWOHQHQ�FHYDSODU�
JH©HUOL�GHáLOGLU�

���6RUX�NLWDS©ñáñQñ]ñ�DOñU�DOPD]��VD\IDODUñQ�HNVLN�ROXS�ROPDGñáñQñ��NLWDS©ñNWD�EDVñP�KDWDODUñQñQ�EXOXQXS�EXOXQPDGñáñQñ�
NRQWURO�HGLQL]��6RUX�NLWDS©ñáñQñ]ñQ�VD\IDVñ�HNVLN�YH\D�EDVñPñ�KDWDOñ�LVH�GHáLĜWLULOPHVL�L©LQ�GHUK¤O�6DORQ�%DĜNDQñQD�
EDĜYXUXQX]�� 6RUX� NLWDS©ñáñQñQ� KHU� VD\IDVñQGD�EDVñOñ� EXOXQDQ� VRUX� NLWDS©ñáñ� W¾U¾Q¾Q�� NLWDS©ñáñQ� ¸Q� NDSDáñQGD�
EDVñOñ� VRUX�NLWDS©ñáñ� W¾U¾\OH�D\Qñ�ROXS�ROPDGñáñQñ�NRQWURO�HGLQL]��)DUNOñ�ROPDVñ�GXUXPXQGD�6DORQ�%DĜNDQñQGDQ�
\HQL�ELU����VRUX�NLWDS©ñáñ�LVWH\LQL]��6RUX�NLWDS©ñáñQñ]ñQ�W¾U¾Q¾Q�GHáLĜLN�ROGXáXQX�GDKD�VRQUD�IDUN�HGHUVHQL]��VL]H�R�
]DPDQD�NDGDU�FHYDSODPD�\DSWñáñQñ]�W¾UGHQ��KDWDVñ]�ELU�VRUX�NLWDS©ñáñ�YHULOPHVL�L©LQ�6DORQ�%DĜNDQñQD�EDĜYXUXQX]��
&HYDS�N¤áñGñQñ]D��VL]H�YHULOHFHN�RODQ�VRUX�NLWDS©ñáñQñQ�W¾U¾Q¾�LĜDUHWOHPH\L�XQXWPD\ñQñ]��%X�LĜDUHW�NRQPDPñĜVD�
VñQDYñQñ]ñQ�GHáHUOHQGLULOPHVLQH�RODQDN�EXOXQPDGñáñQGDQ�VñQDYñQñ]�JH©HUVL]�VD\ñODFDNWñU�

����&HYDSODPD\D�JH©PHGHQ�¸QFH�VL]H�YHULOHFHN�VRUX�NLWDS©ñáñQñQ�¾]HULQGH�D\UñODQ�\HUH�$GñQñ]ñ��6R\DGñQñ]ñ��$GD\�
1XPDUDVñ�YH�6DORQ�1XPDUDVñQñ�\D]ñQñ]��6RUX�NLWDS©ñNODUñ�WRSODQDFDN�YH�WHN�WHN�LQFHOHQHFHNWLU��6RUX�NLWDS©ñáñQñQ�ELU�
WHN�VD\IDVñ�ELOH�HNVLN�©ñNDUVD�VñQDYñQñ]�JH©HUVL]�VD\ñODFDNWñU�

����6RUX�NLWDS©ñáñQñQ�VD\IDODUñQGDNL�ERĜ�\HUOHUL�P¾VYHGGH�L©LQ�NXOODQDELOLUVLQL]�

����6RUXODUñ�YH�EX�VRUXODUD�YHUGLáLQL]�FHYDSODUñ�D\Uñ�ELU�N¤áñGD�\D]ñS�EX�N¤áñGñ�GñĜDUñ�©ñNDUPDQñ]�NHVLQOLNOH�\DVDNWñU�

����6RUX�NLWDS©ñáñQñ]ñ�YH�FHYDS�N¤áñGñQñ]ñ�VDORQ�J¸UHYOLOHULQH�WHVOLP�HWPHGHQ�VñQDY�VDORQXQGDQ�D\UñOPD\ñQñ]�

(English text is in the next page.)
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���,W�LV�VWULFWO\�IRUELGGHQ�WR�EULQJ�FHOOXODU��PRELOH��SKRQHV�LQWR�WKH�H[DPLQDWLRQ�KDOO���$Q\�NLQG�RI�HOHFWURQLF�RU�
FRPPXQLFDWLRQ�HTXLSPHQW��RWKHU�WKDQ�ZDWFKHV�VKRZLQJ�WLPH�RQO\���ZHDSRQV��H[SORVLYH�PDWHULDOV��VFUDS�SDSHUV��
QRWHERRNV��ERRNV��GLFWLRQDULHV�DQG�UHODWHG�LQVWUXPHQWV��VOLGH�UXOHV��FRPSDVVHV��SURWUDFWRUV��UXOHUV�DUH�DOVR�QRW�
DOORZHG��7KH�H[DPV�RI�DQ\�YLRODWRUV�RI�WKHVH�UXOHV�ZLOO�EH�FDQFHOOHG�

���7KH�WLPH�JLYHQ�WR�DQVZHU�WKH�TXHVWLRQV�LV�����PLQXWHV�

���1R�FDQGLGDWH�VXEPLWWLQJ�KLV�KHU�H[DPLQDWLRQ�ERRNOHW�WR�D�SHUVRQ�LQ�FKDUJH�DQG�OHDYHV�WKH�H[DPLQDWLRQ�KDOO��
IRU�DQ\�UHDVRQ�ZKDWVRHYHU��ZLOO�EH�DOORZHG�WR�UH�HQWHU�WKH�KDOO��

���6WXGHQWV�ZLOO�127�EH�DOORZHG�WR�OHDYH�WKH�H[DPLQDWLRQ�URRP�IRU�DQ\�UHDVRQ��6WXGHQWV�DUH�127�SHUPLWWHG�WR�
OHDYH�WKH�H[DPLQDWLRQ�URRP�ZLWKLQ�WKH�ƓUVW�WKLUW\������PLQXWHV�DIWHU�WKH�FRPPHQFHPHQW�RI�WKH�H[DPLQDWLRQ�DQG�
ƓIWHHQ������PLQXWHV�EHIRUH�WKH�FRPSOHWLRQ�RI�WKH�H[DPLQDWLRQ��6WXGHQWV�ZKR�DUULYH�DIWHU�������PLQXWHV�IURP�WKH�
FRPPHQFHPHQW�RI�WKH�H[DPLQDWLRQ�ZLOO�127�EH�DOORZHG�WR�WDNH�WKH�H[DPLQDWLRQ�

���'XULQJ�WKH�WHVW��LW�LV�VWULFWO\�IRUELGGHQ�WR�DVN�TXHVWLRQV�RU�WDON�WR�RIƓFLDO�SHRSOH�LQ�FKDUJH��,W�LV�DOVR�DJDLQVW�WKH�
UXOHV�RI�WKH�H[DPLQDWLRQ�IRU�SHRSOH�LQ�FKDUJH�WR�FRQYHUVH�RU�ZKLVSHU�WR�DQ\�FDQGLGDWHV��6LPLODUO\��LW�LV�IRUELGGHQ�
WR�DVN�DQRWKHU�FDQGLGDWH�IRU�D�SHQFLO��HUDVHU��RU�DQ\WKLQJ�HOVH�

���'XULQJ�WKH�H[DPLQDWLRQ��FDQGLGDWHV�DUH�UHTXLUHG�WR�FRPSO\�ZLWK�DOO�WKH�LQVWUXFWLRQV�JLYHQ�WR�WKHP�E\�WKH�SHRSOH�
LQ�FKDUJH��ZKR�KDYH�WKH�ULJKW�WR�WHOO�D�FDQGLGDWH�WR�FKDQJH�KLV�KHU�VHDW��<RX�PXVW�REH\�DOO�LQVWUXFWLRQV�JLYHQ�WR�
\RX��2WKHUZLVH��\RXU�QDPH�DQG�DSSOLFDWLRQ�QXPEHU�ZLOO�EH�WDNHQ��DQG�\RXU�H[DPLQDWLRQ�ZLOO�EH�FDQFHOOHG�

��� ,I� DQ\RQH� LV� GHWHUPLQHG� DV� FKHDWLQJ�� WU\LQJ� WR� FKHDW�� RU� KHOSLQJ� VRPHRQH� HOVH� WR� FKHDW� GXULQJ� WKH� WHVW� 
KLV���KHU�QDPH�DORQJ�ZLWK�DSSOLFDWLRQ�QXPEHU�ZLOO�EH�UHFRUGHG��7KHQ�KLV�KHU�DQVZHU�VKHHW�ZLOO�QRW�EH�FRQVLGHUHG�
IRU�HYDOXDWLRQ��7KH�SHRSOH� LQ� FKDUJH�DUH� LQ�QR�ZD\� UHTXLUHG� WR�ZDUQ� FDQGLGDWHV� DERXW� FKHDWLQJ��7KLV� LV� WKH�
FDQGLGDWHVō�SXUH�UHVSRQVLELOLW\��'XULQJ�WKH�H[DPLQDWLRQ��LW�LV�H[WUHPHO\�LPSRUWDQW�WKDW�\RX�SHUIRUP�H[WUHPH�FDUH�
LQ�QRW�OHWWLQJ�\RXU�DQVZHU�VKHHW�EH�VHHQ�E\�DQRWKHU�FDQGLGDWH�

���,W�LV�LPSRUWDQW�WR�ƓOO�LQ�WKH�QHFHVVDU\�DUHDV�RQ�WKH�DQVZHU�VKHHW��<RX�PXVW�XVH�RQO\�D�VRIW�OHDG�SHQFLO�IRU�ZULWLQJ�
\RXU�QDPH�DQG�RWKHU�LQIRUPDWLRQ�RU�PDUNLQJ�DQVZHUV��1R�W\SH�RI�SHQ�FDQ�EH�XVHG��DQG�PDUN�\RXU�DQVZHUV�RQO\�
RQ�WKH�DQVZHU�VKHHW��$QVZHUV�PDUNHG�LQ�WKH�WHVW�ERRNOHW�ZLOO�EH�LJQRUHG�

���2QFH�WKH�WHVW�ERRNOHWV�KDYH�EHHQ�GLVWULEXWHG��\RX�VKRXOG�FKHFN�WR�VHH�WKDW�QR�SDJHV�DUH�PLVVLQJ�DQG�DOO�SDJHV�
DUH�UHDGDEOH��<RX�VKRXOG�LQIRUP�WKH�SHRSOH�LQ�FKDUJH�LPPHGLDWHO\�LQ�VXFK�DQ�HYHQW�VR�WKDW�\RXU�WHVW�ERRNOHW�
FDQ�EH�FKDQJHG��&KHFN�ZKHWKHU�WKH�OHWWHU�SULQWHG�DW�WKH�WRS�RI�HDFK�SDJH�LQ�WKH�WHVW�ERRNOHW�LV�WKH�VDPH�DV�WKH�
OHWWHU�SULQWHG�RQ�WKH�FRYHU��,I�\RX�UHDOLVH�VXFK�D�GLVSDULW\�ODWHU�LQ�WKH�H[DP��\RX�VKRXOG�DVN�WKRVH�LQ�FKDUJH�IRU�D�
QHZ�WHVW�ERRNOHW�WKDW�PDNHV�WKH�W\SH�\RX�KDYH�EHHQ�ZRUNLQJ�RQ�XS�WR�WKDW�WLPH��5HPHPEHU�WR�PDUN�WKH�OHWWHU�RI�
WKH�ERRNOHW�RQ�\RXU�DQVZHU�VKHHW��RWKHUZLVH��\RXU�H[DP�ZLOO�EH�LQYDOLG��VLQFH�LW�ZLOO�QRW�EH�SRVVLEOH�WR�HYDOXDWH�LW�

����%HIRUH�\RX�EHJLQ� WR�DQVZHU� WKH�TXHVWLRQV��\RX�PXVW�ZULWH�\RXU�QDPH�� VXUQDPH��FDQGLGDWH�QXPEHU��DQG�
H[DPLQDWLRQ�KDOO�QXPEHU�RQ� WKH�FRYHU�RI� \RXU� WHVW�ERRNOHW�� )ROORZLQJ� WKH�H[DPLQDWLRQ�� DOO� WHVW�ERRNOHWV�DUH�
FROOHFWHG�DQG�LQVSHFWHG��,I�HYHQ�RQH�SDJH�RI�D�WHVW�ERRNOHW�LV�PLVVLQJ��WKH�DQVZHU�VKHHW�ZLOO�QRW�EH�WDNHQ�LQWR�
FRQVLGHUDWLRQ�IRU�HYDOXDWLRQ�

����<RX�PD\�XVH�WKH�EODQN�VSDFHV�RQ�WKH�SDJHV�RI� WKH�WHVW�ERRNOHW�DV�VFUDS�SDSHU� IRU�ZULWLQJ�RU�FDOFXODWLRQ�
SXUSRVHV�

����,W�LV�VWULFWO\�IRUELGGHQ�WR�UHFRUG�\RXU�DQVZHUV�RQ�DQ\�SDSHU�DQG�WDNH�LW�RXW�

����5HPHPEHU� WR�JLYH� LQ� \RXU� WHVW�ERRNOHW�DQG�DQVZHU� VKHHW� WR� WKH�SHRSOH� LQ�FKDUJH�EHIRUH�\RX� OHDYH� WKH�
H[DPLQDWLRQ�KDOO�

�7¾UN©H�PHWLQ�ELU�¸QFHNL�VD\IDGDGñU��
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SORU CEVAP SORU CEVAP
1 C 41 D
2 D 42 A
3 A 43 C
4 E 44 A
5 C 45 B
6 A 46 E
7 D 47 B
8 E 48 D
9 B 49 A
10 E 50 C
11 A 51 E
12 E 52 D
13 A 53 B
14 B 54 A
15 D 55 B
16 A 56 D
17 D 57 A
18 C 58 B
19 E 59 C
20 C 60 C
21 C 61 B
22 D 62 D
23 B 63 E
24 E 64 D
25 E 65 E
26 A 66 B
27 D 67 C
28 A 68 B
29 C 69 E
30 B 70 A
31 D 71 B
32 B 72 E
33 A 73 B
34 C 74 B
35 B 75 C
36 D 76 D
37 C 77 E
38 E 78 C
39 A 79 D
40 D 80 C
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